Fisica Tedrica e Experimental Il
Turmas 1,2,3 = (54 alunos) 32 T2 T3 T4 e5° T2 T3 - 5026 F

Turmas 4,5,6 =(54)alunos3*T2T3T4 e5*T2T3-5054 F /5054 F
Turmas 7, 8,9, 10 = (72 alunos) 32 T5 T6 e 52 T4 T5 T6 - 5032 F / 5060 F
Turmas 11,12, 13 = (54) 32 T5T6 e 52 T4 T5 T6 - 5054 F / 5026 F

Turmas 14, 15, 16 = (54 ) alunos 3% M2 M3 M4 e 5 M2 M3 - 5054 F / 5 5058 F

Fisica Tedrica e Experimental IV

Turmas 1,2,3,4,5 = (50 alunos) 32 M3 M4 M5 e 52 M3 M4 M5 - 5060 F
Turmas 6,7,8 =(30alunos)32T4T5T6e 52 T4 T5T6 - 5006 F



